

BID SUMMARY

BID DATE: July 11, 2024

		GVC Construction, Inc. Lunenburg, MA		Albanese Brothers, Inc. Dracut, MA		Albanese D&S, Inc. Dracut, MA		J.A. Polito & Sons, Inc. Shrewsbury, MA		Baltazar Contractors, Inc. Ludlow, MA		RJV Construction Canton, MA		Ferreira Construction Co., Inc. Branchburg, NJ		
ITEM	QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
BASE BID SRF ELIGIBLE ITEMS																
1		SEWERS COMPLETE IN PLACE														
1a	1,122	Construction of 8- and 10-inch PVC sewers at 0-12 foot depth, per linear foot	\$220.00	\$246,840.00	\$290.00	\$325,380.00	\$300.00	\$336,600.00	\$240.00	\$269,280.00	\$200.00	\$224,400.00	\$350.00	\$392,700.00	\$305.00	\$342,210.00
1b	431	12 foot depth, per linear foot	\$230.00	\$99,130.00	\$295.00	\$127,145.00	\$350.00	\$150,850.00	\$300.00	\$129,300.00	\$225.00	\$96,975.00	\$400.00	\$172,400.00	\$332.00	\$143,092.00
1c	221	Construction of 15-inch PVC sewers, per linear foot	\$265.00	\$58,565.00	\$480.00	\$106,080.00	\$425.00	\$93,925.00	\$300.00	\$66,300.00	\$250.00	\$55,250.00	\$450.00	\$99,450.00	\$379.00	\$83,759.00
1d	13	Construction of 18-inch PVC sewers, per linear foot	\$350.00	\$4,550.00	\$680.00	\$8,840.00	\$550.00	\$7,150.00	\$500.00	\$6,500.00	\$345.00	\$4,485.00	\$500.00	\$6,500.00	\$1,085.00	\$14,105.00
1e	10	Construction of 8- and 10-inch PVC sewers at greater than 12 foot depth, per linear foot	\$220.00	\$2,200.00	\$295.00	\$2,950.00	\$350.00	\$3,500.00	\$600.00	\$6,000.00	\$345.00	\$3,450.00	\$500.00	\$5,000.00	\$722.00	\$7,220.00
1f	21	Construction of 12-inch PVC sewers at greater than 12 foot depth, per linear foot	\$230.00	\$4,830.00	\$305.00	\$6,405.00	\$375.00	\$7,875.00	\$600.00	\$12,600.00	\$350.00	\$7,350.00	\$500.00	\$10,500.00	\$691.00	\$14,511.00
2		DRAINS COMPLETE IN PLACE														
2a	105	Construction of 8-inch PVC drains at 0-12 foot depth, per linear foot	\$165.00	\$17,325.00	\$430.00	\$45,150.00	\$260.00	\$27,300.00	\$250.00	\$26,250.00	\$200.00	\$21,000.00	\$350.00	\$36,750.00	\$594.00	\$62,370.00
2b	9	Construction of 10-inch PVC drains at 0-12 foot depth, per linear foot	\$350.00	\$3,150.00	\$430.00	\$3,870.00	\$275.00	\$2,475.00	\$300.00	\$2,700.00	\$300.00	\$2,700.00	\$500.00	\$4,500.00	\$459.00	\$4,131.00
2c	23	Construction of 12-inch PVC drains at 0-12 foot depth, per linear foot	\$350.00	\$8,050.00	\$300.00	\$6,900.00	\$300.00	\$6,900.00	\$300.00	\$6,900.00	\$300.00	\$6,900.00	\$500.00	\$11,500.00	\$650.00	\$14,950.00
2d	8	Construction of 15-inch PVC drains at 0-12 foot depth, per linear foot	\$350.00	\$2,800.00	\$580.00	\$4,640.00	\$325.00	\$2,600.00	\$350.00	\$2,800.00	\$300.00	\$2,400.00	\$500.00	\$4,000.00	\$547.00	\$4,376.00
2e	7	Construction of 18-inch PVC drains at 0-12 foot depth, per linear foot	\$350.00	\$2,450.00	\$610.00	\$4,270.00	\$350.00	\$2,450.00	\$400.00	\$2,800.00	\$500.00	\$3,500.00	\$500.00	\$3,500.00	\$623.00	\$4,361.00
2f	2,686	Construction of 12-inch HDPE drains at 0-12 foot depth, per linear foot	\$185.00	\$496,910.00	\$275.00	\$738,650.00	\$290.00	\$778,940.00	\$300.00	\$805,800.00	\$250.00	\$671,500.00	\$300.00	\$805,800.00	\$235.00	\$631,210.00
2g	1,031	Construction of 15-inch HDPE drains at 0-12 foot depth, per linear foot	\$155.00	\$159,805.00	\$280.00	\$288,680.00	\$320.00	\$329,920.00	\$300.00	\$309,300.00	\$285.00	\$293,835.00	\$300.00	\$309,300.00	\$242.00	\$249,502.00
2h	2,534	Construction of 18-inch HDPE drains at 0-12 foot depth, per linear foot	\$200.00	\$506,800.00	\$325.00	\$823,550.00	\$370.00	\$937,580.00	\$340.00	\$861,560.00	\$285.00	\$722,190.00	\$400.00	\$1,013,600.00	\$255.00	\$646,170.00
2i	3,033	Construction of 24-inch HDPE drains at 0-12 foot depth, per linear foot	\$350.00	\$1,061,550.00	\$375.00	\$1,137,375.00	\$420.00	\$1,273,860.00	\$340.00	\$1,031,220.00	\$564.00	\$1,710,612.00	\$450.00	\$1,364,850.00	\$280.00	\$849,240.00
2j	2,585	Construction of 30-inch HDPE drains at 0-12 foot depth, per linear foot	\$350.00	\$904,750.00	\$430.00	\$1,111,550.00	\$470.00	\$1,214,950.00	\$350.00	\$904,750.00	\$684.00	\$1,768,140.00	\$600.00	\$1,551,000.00	\$350.00	\$904,750.00
2k	1,174	Construction of 36-inch HDPE drains at 0-12 foot depth, per linear foot	\$400.00	\$469,600.00	\$465.00	\$545,910.00	\$520.00	\$610,480.00	\$450.00	\$528,300.00	\$661.00	\$776,014.00	\$650.00	\$763,100.00	\$382.00	\$448,468.00 *
2l	10	Construction of 12-inch HDPE drains at greater than 12 foot depth, per linear foot	\$400.00	\$4,000.00	\$275.00	\$3,700.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$390.00	\$3,900.00
2m	10	Construction of 15-inch HDPE drains at greater than 12 foot depth, per linear foot	\$400.00	\$4,000.00	\$375.00	\$3,750.00	\$390.00	\$3,900.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$401.00	\$4,010.00
2n	42	Construction of 18-inch HDPE drains at greater than 12 foot depth, per linear foot	\$400.00	\$16,800.00	\$405.00	\$17,010.00	\$420.00	\$17,640.00	\$500.00	\$21,000.00	\$500.00	\$21,000.00	\$500.00	\$21,000.00	\$394.00	\$16,548.00
2o	686	Construction of 24-inch HDPE drains at greater than 12 foot depth, per linear foot	\$350.00	\$240,100.00	\$405.00	\$277,830.00	\$470.00	\$322,420.00	\$500.00	\$343,000.00	\$365.00	\$700.00	\$480,200.00	\$400.00	\$274,400.00	
2p	997	Construction of 30-inch HDPE drains at greater than 12 foot depth, per linear foot	\$350.00	\$348,950.00	\$440.00	\$438,680.00	\$570.00	\$568,290.00	\$500.00	\$498,500.00	\$500.00	\$697,900.00	\$483.00	\$481,551.00		
2q	418	Construction of 36-inch HDPE drains at greater than 12 foot depth, per linear foot	\$450.00	\$188,100.00	\$505.00	\$211,090.00	\$620.00	\$259,160.00	\$600.00	\$250,800.00	\$510.00	\$213,180.00	\$750.00	\$313,500.00	\$521.00	\$217,778.00
2r	351	Construction of 12-inch single wall HDPE drains at 0-12 foot depth, per linear foot	\$225.00	\$78,975.00	\$255.00	\$89,505.00	\$290.00	\$101,790.00	\$240.00	\$84,240.00	\$200.00	\$70,200.00	\$300.00	\$105,300.00	\$223.00	\$78,273.00
2s	247	Construction of 15-inch single wall HDPE drains, per linear foot	\$235.00	\$58,045.00	\$275.00	\$67,925.00	\$320.00	\$79,040.00	\$300.00	\$74,100.00	\$200.00	\$49,400.00	\$350.00	\$86,450.00	\$244.00	\$60,268.00
2t	235	Construction of 18-inch single wall HDPE drains at 0-12 foot depth, per linear foot	\$300.00	\$70,500.00	\$345.00	\$81,075.00	\$370.00	\$86,950.00	\$300.00	\$70,500.00	\$200.00	\$47,000.00	\$400.00	\$94,000.00	\$265.00	\$62,275.00
2u	61	Construction of 12-inch single wall HDPE drains at greater than 12 foot depth, per linear foot	\$300.00	\$18,300.00	\$375.00	\$22,875.00	\$370.00	\$22,570.00	\$500.00	\$30,500.00	\$300.00	\$18,300.00	\$300.00	\$18,300.00	\$491.00	\$29,951.00
2v	32	Construction of 18-inch single wall HDPE drains at greater than 12 foot depth, per linear foot	\$400.00	\$12,800.00	\$530.00	\$16,960.00	\$420.00	\$13,440.00	\$500.00	\$16,000.00	\$500.00	\$16,000.00	\$400.00	\$12,800.00	\$464.00	\$14,848.00
2w	282	Construction of 18-inch single wall double barrel HDPE drains at 0-12 foot depth, per linear foot	\$585.00	\$164,970.00	\$500.00	\$141,000.00	\$380.00	\$107,160.00</								

BID SUMMARY

BID DATE: July 11, 2024

ITEM	QUANTITY	DESCRIPTION	GVC Construction, Inc. Lunenburg, MA		Albanese Brothers, Inc. Dracut, MA		Albanese D&S, Inc. Dracut, MA		J.A. Polito & Sons, Inc. Shrewsbury, MA		Baltazar Contractors, Inc. Ludlow, MA		RJV Construction Canton, MA		Ferreira Construction Co., Inc. Branchburg, NJ	
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
5k	5	Installation of 5 foot by 5 foot precast double barrel box manhole base with frame and cover, per manhole	\$25,000.00	\$125,000.00	\$12,000.00	\$60,000.00	\$19,000.00	\$95,000.00	\$10,000.00	\$50,000.00	\$25,000.00	\$125,000.00	\$50,000.00	\$250,000.00	\$14,815.00	\$74,075.00
5l	66	Installation of 5 foot by 5 foot precast double barrel box manhole walls, per vertical foot	\$950.00	\$62,700.00	\$0.01	\$66	\$675.00	\$44,550.00	\$600.00	\$39,600.00	\$2,000.00	\$132,000.00	\$0.01	\$768.00	\$50,688.00	
5m	68	Installation of 4 foot diam. 4 foot sump precast concrete catch basin with frame and grate, per catch basin	\$6,500.00	\$442,000.00 **	\$7,000.00	\$476,000.00	\$9,000.00	\$612,000.00	\$8,000.00	\$544,000.00	\$9,000.00	\$612,000.00	\$6,000.00	\$408,000.00	\$10,984.00	\$746,912.00
5n	18	Installation of 4 foot diam. 4 foot sump precast concrete sump manhole, per manhole	\$9,500.00	\$171,000.00	\$8,000.00	\$144,000.00	\$9,000.00	\$162,000.00	\$8,000.00	\$144,000.00	\$10,000.00	\$180,000.00	\$6,000.00	\$108,000.00	\$16,472.00	\$296,496.00
5o	23	Installation of curb inlet, per curb inlet	\$6,500.00	\$149,500.00	\$9,000.00	\$207,000.00	\$5,000.00	\$115,000.00	\$5,000.00	\$115,000.00	\$6,500.00	\$149,500.00	\$2,500.00	\$57,500.00	\$5,476.00	\$125,948.00
6	6	INSTALLATION OF DROP CONNECTION SYSTEMS														
6a	54	Installation of 8- to 12-inch internal drop connections in sewer manholes, per vertical foot	\$300.00	\$16,200.00	\$400.00	\$21,600.00	\$300.00	\$16,200.00	\$350.00	\$18,900.00	\$500.00	\$27,000.00	\$500.00	\$27,000.00	\$1,276.00	\$68,904.00
7	7	ROCK EXCAVATION AND DISPOSAL														
7a	6,350	Rock excavation and disposal, per cubic yard (min.)	\$65.00	\$412,750.00	\$65.00	\$412,750.00	\$65.00	\$412,750.00	\$65.00	\$412,750.00	\$65.00	\$412,750.00	\$65.00	\$412,750.00	\$65.00	\$412,750.00
7b	6,350	Rock excavation and disposal, per cubic yard (additional)	\$60.00	\$381,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$65.00	\$412,750.00	\$95.00	\$603,250.00	\$100.00	\$635,000.00	\$275.00	\$1,746,250.00
8	8	EARTHWORK														
8a	11,450	Removal and disposal of group A1 excavated material (min.), per ton	\$26.00	\$297,700.00	\$26.00	\$297,700.00	\$26.00	\$297,700.00	\$26.00	\$297,700.00	\$26.00	\$297,700.00	\$26.00	\$297,700.00	\$26.00	\$297,700.00
8b	11,450	Removal and disposal of group A1 excavated material (add'l), per ton	\$22.00	\$251,900.00	\$0.00	\$0.00	\$8.00	\$91,600.00	\$0.00	\$0.00	\$29.00	\$332,050.00	\$4.00	\$45,800.00	\$0.00	\$0.00
8c	4,320	Removal and disposal of group A2 excavated material (min.), per ton	\$37.00	\$159,840.00	\$37.00	\$159,840.00	\$37.00	\$159,840.00	\$37.00	\$159,840.00	\$37.00	\$159,840.00	\$37.00	\$159,840.00	\$37.00	\$159,840.00
8d	4,320	Removal and disposal of group A2 excavated material (add'l), per ton	\$38.00	\$164,160.00	\$0.00	\$0.00	\$18.00	\$77,760.00	\$0.00	\$0.00	\$49.00	\$211,680.00	\$18.00	\$77,760.00	\$64.00	\$276,480.00
8e	15,650	Removal and disposal of group B excavated material (min.), per ton	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00	\$68.00	\$1,064,200.00
8f	15,650	Removal and disposal of group B excavated material (add'l), per ton	\$27.00	\$422,550.00	\$0.00	\$0.00	\$4.00	\$62,600.00	\$0.00	\$0.00	\$25.00	\$391,250.00	\$7.00	\$109,550.00	\$39.00	\$161,350.00
8g	1,670	Removal and disposal of group C excavated material (min.), per ton	\$137.00	\$228,790.00	\$137.00	\$228,790.00	\$137.00	\$228,790.00	\$137.00	\$228,790.00	\$137.00	\$228,790.00	\$137.00	\$228,790.00	\$137.00	\$228,790.00
8h	1,670	Removal and disposal of group C excavated material (add'l), per ton	\$13.00	\$21,710.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$25.00	\$41,750.00	\$63.00	\$105,210.00	\$51.00	\$85,170.00
8i	870	Removal and disposal of group D excavated material (min.), per ton	\$310.00	\$269,700.00	\$310.00	\$269,700.00	\$310.00	\$269,700.00	\$310.00	\$269,700.00	\$310.00	\$269,700.00	\$310.00	\$269,700.00	\$310.00	\$269,700.00
8j	870	Removal and disposal of group D excavated material (add'l), per ton	\$195.00	\$169,650.00	\$0.00	\$0.00	\$170.00	\$147,900.00	\$0.00	\$0.00	\$240.00	\$190.00	\$165,300.00	\$1,320.00	\$1,148,400.00	
8k	1	Special dewatering in contaminated areas, lump sum	\$200,000.00	\$200,000.00 **	\$298,500.00	\$298,500.00	\$1.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$100,000.00	\$500,000.00	\$500,000.00
9	ADDITIONAL EARTHWORK MATERIAL															
9a	500	Additional crushed stone, per cubic yard	\$0.01	\$5.00	\$45.00	\$22,500.00	\$15.00	\$7,500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$35.00	\$17,500.00	\$51.00	\$25,500.00
9b	500	Additional gravel, per cubic yard	\$0.01	\$5.00	\$50.00	\$25,000.00	\$15.00	\$7,500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$35.00	\$17,500.00	\$66.00	\$33,000.00
9c	500	Type 2E - flowable controlled density fill, per cubic yard	\$350.00	\$175,000.00	\$310.00	\$155,000.00	\$150.00	\$75,000.00	\$200.00	\$100,000.00	\$215.00	\$107,500.00	\$150.00	\$75,000.00	\$267.00	\$133,500.00
9d	320	Plugs/caps for abandonment of pipes, per plug	\$200.00	\$64,000.00	\$250.00	\$80,000.00	\$0.01	\$3.20	\$500.00	\$160,000.00	\$250.00	\$80,000.00	\$500.00	\$160,000.00	\$1,020.00	\$326,400.00
10	TEST PITS															
10a	1,600	Test pits, per cubic yard (min.)	\$35.00	\$56,000.00	\$35.00	\$56,000.00	\$35.00	\$56,000.00	\$35.00	\$56,000.00	\$35.00	\$56,000.00	\$35.00	\$56,000.00	\$35.00	\$56,000.00
10b	1,600	Test pits, per cubic yard (add'l)	\$65.00	\$104,000.00	\$365.00	\$584,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.01	\$16.00	\$0.00	\$0.00	\$230.00	\$368,000.00
11	RELOCATION OF SEWERS AND DRAINS															
11a	25	Sewer and drain relocation/reconstruction, per utility	\$5,500.00	\$137,500.00	\$3,000.00	\$75,000.00	\$1,500.00	\$37,500.00	\$1,000.00	\$25,000.00	\$5,000.00	\$125,000.00	\$2,000.00	\$50,000.00	\$1,845.00	\$46,125.00
12	PAVEMENT REPLACEMENT AND SURFACE RESTORATION															
12a	20,638	Temporary Trench Pavement for Utility Trenches, per linear foot	\$60.00	\$1,238,280.00	\$70.00	\$1,444,660.00	\$75.00	\$1,547,850.00	\$80.00	\$1,651,040.00	\$60.00	\$1,238,280.00	\$120.00	\$2,476,560.00	\$79.00	\$1,630,402.00
12b	4,551	Temporary Trench Pavement for Utility Lateral Trenches, per linear foot	\$75.00	\$341,325.00	\$100.00	\$455,100.00	\$75.00	\$341,325.00	\$80.00	\$364,080.00	\$60.00	\$273,060.00	\$100.00	\$455,100.00	\$79.00	\$359,529.00
12c	66,759	Pavement Milling, per square yard	\$4.00	\$267,036.00	\$5.00	\$333,795.00	\$5.00	\$333,795.								

BID SUMMARY

BID DATE: July 11, 2024

		GVC Construction, Inc. Lunenburg, MA		Albanese Brothers, Inc. Dracut, MA		Albanese D&S, Inc. Dracut, MA		J.A. Polito & Sons, Inc. Shrewsbury, MA		Baltazar Contractors, Inc. Ludlow, MA		RJV Construction Canton, MA		Ferreira Construction Co., Inc. Branchburg, NJ		
ITEM	QUANTITY	DESCRIPTION		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
21a	10	Removal and disposal of group A1 excavated material (min.), per ton		\$26.00	\$260.00	\$26.00	\$260.00	\$26.00	\$260.00	\$26.00	\$260.00	\$26.00	\$260.00	\$26.00	\$260.00	
21b	10	Removal and disposal of group A1 excavated material (add'l), per ton		\$22.00	\$220.00	\$0.00	\$0.00	\$80.00	\$0.00	\$29.00	\$290.00	\$4.00	\$40.00	\$0.00	\$0.00	
21c	10	Removal and disposal of group A2 excavated material (min.), per ton		\$37.00	\$370.00	\$37.00	\$370.00	\$37.00	\$370.00	\$37.00	\$370.00	\$37.00	\$370.00	\$37.00	\$370.00	
21d	10	Removal and disposal of group A2 excavated material (add'l), per ton		\$38.00	\$380.00	\$0.00	\$0.00	\$18.00	\$180.00	\$0.00	\$0.00	\$49.00	\$490.00	\$18.00	\$180.00	
21e	10	Removal and disposal of group B excavated material (min.), per ton		\$68.00	\$680.00	\$68.00	\$680.00	\$68.00	\$680.00	\$68.00	\$680.00	\$68.00	\$680.00	\$68.00	\$680.00	
21f	10	Removal and disposal of group B excavated material (add'l), per ton		\$27.00	\$270.00	\$0.00	\$0.00	\$4.00	\$40.00	\$0.00	\$0.00	\$25.00	\$250.00	\$7.00	\$70.00	
21g	10	Removal and disposal of group C excavated material (min.), per ton		\$137.00	\$1,370.00	\$137.00	\$1,370.00	\$137.00	\$1,370.00	\$137.00	\$1,370.00	\$137.00	\$1,370.00	\$137.00	\$1,370.00	
21h	10	Removal and disposal of group C excavated material (add'l), per ton		\$13.00	\$130.00	\$0.00	\$0.00	\$0.00	\$0.00	\$25.00	\$250.00	\$63.00	\$630.00	\$50.00	\$500.00	
21i	10	Removal and disposal of group D excavated material (min.), per ton		\$310.00	\$3,100.00	\$310.00	\$3,100.00	\$310.00	\$3,100.00	\$310.00	\$3,100.00	\$310.00	\$3,100.00	\$310.00	\$3,100.00	
21j	10	Removal and disposal of group D excavated material (add'l), per ton		\$195.00	\$1,950.00	\$0.00	\$0.00	\$170.00	\$1,700.00	\$0.00	\$0.00	\$240.00	\$2,400.00	\$190.00	\$1,900.00	
22		PAVEMENT REPLACEMENT AND SURFACE RESTORATION														
22a	625	Temporary trench pavement for utility trenches, per linear foot		\$60.00	\$37,500.00	\$143.00	\$89,375.00	\$75.00	\$46,875.00	\$80.00	\$50,000.00	\$60.00	\$37,500.00	\$120.00	\$75,000.00	
22b	55	Temporary trench pavement for utility lateral trenches, per linear foot		\$75.00	\$4,125.00	\$312.00	\$17,160.00	\$70.00	\$3,850.00	\$80.00	\$4,400.00	\$60.00	\$3,300.00	\$100.00	\$5,500.00	
22c	1,150	Pavement milling, per square yard		\$4.00	\$4,600.00	\$5.00	\$5,750.00	\$14.00	\$16,100.00	\$8.00	\$9,200.00	\$5.50	\$6,325.00	\$12.00	\$13,800.00	
22d	10	Adjust manhole or catch basin structure, per structure		\$550.00	\$5,500.00	\$485.00	\$4,850.00	\$350.00	\$3,500.00	\$550.00	\$580.00	\$580.00	\$350.00	\$3,500.00	\$2,235.00	
22e	10	Adjust valve box structure, per structure		\$375.00	\$3,750.00	\$200.00	\$2,000.00	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$285.00	\$2,850.00	\$250.00	\$314.00	
22f	150	2" thick curb-to-curb surface course overlay, per ton		\$155.00	\$23,250.00	\$145.00	\$21,750.00	\$150.00	\$22,500.00	\$150.00	\$22,500.00	\$136.00	\$20,400.00	\$130.00	\$19,500.00	
22g	10	Additional pavement, per ton		\$155.00	\$1,550.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$225.00	\$2,250.00	\$185.00	\$1,850.00	\$150.00	\$1,500.00	
23		SIDEWALK AND CURBING REPLACEMENT														
23a	25	Replacement of bituminous shoulder/sidewalk, per square yard		\$85.00	\$2,125.00	\$237.00	\$5,925.00	\$65.00	\$1,625.00	\$100.00	\$2,500.00	\$75.00	\$1,875.00	\$80.00	\$2,000.00	
23b	5	Remove and reset granite curbing, per linear foot		\$55.00	\$275.00	\$38.00	\$190.00	\$50.00	\$250.00	\$85.00	\$425.00	\$58.00	\$290.00	\$60.00	\$300.00	
23c	560	Replacement of asphalt curbing, per linear foot		\$12.00	\$6,720.00	\$10.00	\$5,600.00	\$11.00	\$6,160.00	\$20.00	\$11,200.00	\$15.00	\$8,400.00	\$10.00	\$5,600.00	
24		MOBILIZATION														
24a	1	Mobilization (not more than 5% of total of items 16 through 23), lump sum		\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$17,500.00	\$17,500.00	\$18,000.00	\$18,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$50,000.00	
		ALTERNATE NO. 1 SRF ELIGIBLE ITEMS														
25		OPEN CUT POINT REPAIR OF SEWERS AND DRAINS														
25a	9	Point repairs of 8-inch gravity sewer with 8-inch PVC, per location		\$15,000.00	\$135,000.00	\$15,000.00	\$135,000.00	\$13,600.00	\$122,400.00	\$10,000.00	\$90,000.00	\$12,000.00	\$108,000.00	\$15,000.00	\$135,000.00	\$17,007.00
25b	2	Point repairs of 10-inch gravity sewer with 10-inch PVC, per location		\$15,000.00	\$30,000.00	\$8,000.00	\$16,000.00	\$13,600.00	\$27,200.00	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00	\$15,000.00	\$30,000.00	\$17,443.00
25c	6	Point repairs of 12-inch gravity sewer with 12-inch PVC, per location		\$16,000.00	\$96,000.00	\$8,500.00	\$51,000.00	\$13,600.00	\$81,600.00	\$10,000.00	\$60,000.00	\$14,000.00	\$84,000.00	\$15,000.00	\$90,000.00	\$13,896.00
25d	1	Point repairs of 15-inch gravity sewer with 15-inch PVC, per location		\$17,000.00	\$17,000.00	\$8,000.00	\$8,000.00	\$13,600.00	\$13,600.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,255.00
25e	4	Replace wye in 8-inch mainline sewers, per location		\$15,000.00	\$60,000.00	\$7,500.00	\$30,000.00	\$13,600.00	\$54,400.00	\$10,000.00	\$40,000.00	\$10,000.00	\$26,938.00	\$86.50	\$60,000.00	\$16,435.00
25f	1	Replace wye in 10-inch mainline sewers, per location		\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$13,600.00	\$13,600.00	\$10,000.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$16,401.00
25g	2	Replace wye in 12-inch mainline sewers, per location		\$16,000.00	\$32,000.00	\$10,000.00	\$20,000.00	\$13,600.00	\$27,200.00	\$10,000.00	\$20,000.00	\$14,000.00	\$28,000.00	\$15,000.00	\$30,000.00	\$16,743.00
26		STRUCTURAL CURED-IN-PLACE PIPE														
26a	9,014	Structural cured-in-place pipe for 8-inch pipes, per linear foot		\$44.00	\$396,616.00	\$47.00	\$423,658.00	\$45.00	\$405,630.00	\$50.00	\$450,700.00	\$47.00	\$423,658.00	\$45.00	\$405,630.00	\$53.00
26b	7,007	Structural cured-in-place pipe for 10-inch pipes, per linear foot		\$51.00	\$357,357.00	\$55.00	\$385,385.00	\$52.00	\$364,364.00	\$51.00	\$357,357.00	\$55.00	\$385,385.00	\$50.00	\$350,350.00	
26c	6,553	Structural cured-in-place pipe for 12-inch pipes, per linear foot		\$66.00	\$432,498.00	\$71.00	\$465,263.00	\$67.00	\$439,051.00	\$60.00	\$393,180.00	\$71.00	\$465,263.00	\$65.00	\$425,945.00	
26d	3,371	Structural cured-in-place pipe for 15-inch pipes, per linear foot		\$81.00	\$273,051.00	\$87.00	\$293,277.00	\$82.00	\$276,422.00	\$78.00	\$262,938.00	\$86.50	\$291,591.50	\$80.00	\$269,680.00	
26e																

BID SUMMARY

BID DATE: July 11, 2024

		GVC Construction, Inc. Lunenburg, MA		Albanese Brothers, Inc. Dracut, MA		Albanese D&S, Inc. Dracut, MA		J.A. Polito & Sons, Inc. Shrewsbury, MA		Baltazar Contractors, Inc. Ludlow, MA		RJV Construction Canton, MA		Ferreira Construction Co., Inc. Branchburg, NJ			
ITEM	QUANTITY	DESCRIPTION		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
33a	1	Point repairs of 12-inch gravity sewer with 12-inch PVC, per location		\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$13,896.00	\$13,896.00
34		STRUCTURAL CURED-IN-PLACE PIPE															
34a	246	Structural cured-in-place pipe for 12-inch sewer, per linear foot		\$66.00	\$16,236.00	\$71.00	\$17,466.00	\$68.00	\$16,728.00	\$60.00	\$14,760.00	\$71.00	\$17,466.00	\$65.00	\$15,990.00	\$77.00	\$18,942.00
35		MANHOLE AND CATCH BASIN REHABILITATION															
35a	9	Cementitious lining of catch basins, per vertical foot		\$335.00	\$3,015.00	\$1,500.00	\$13,500.00	\$325.00	\$2,925.00	\$1,000.00	\$9,000.00	\$363.00	\$3,267.00	\$325.00	\$2,925.00	\$374.00	\$3,366.00
35b	1	Replace sewer manhole frame and cover, per manhole		\$2,250.00	\$2,250.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$1,200.00	\$1,200.00	\$3,019.00	\$3,019.00
36		MOBILIZATION															
36a	1	Mobilization (not more than 5% of total of items 33 through 35), lump sum		\$14,500.00	\$14,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
		ALTERNATE NO. 2 SRF INELIGIBLE ITEMS															
37		GREEN INFRASTRUCTURE SITE															
37a	1	Green Infrastructure Site, Lump Sum		\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$162,000.00	\$162,000.00	\$185,000.00	\$185,000.00	\$95,000.00	\$95,000.00	\$80,000.00	\$80,000.00	\$191,376.00	\$191,376.00
38		MOBILIZATION															
38a	1	Mobilization (not more than 5% of total of item 37), lump sum		\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
		TOTAL OF BASE BID SRF ELIGIBLE ITEMS															
		TOTAL OF BASE BID SRF NONELIGIBLE ITEMS															
		TOTAL OF BASE BID															
		TOTAL OF ALTERNATE NO. 1 SRF ELIGIBLE ITEMS															
		TOTAL OF ALTERNATE NO. 1 SRF INELIGIBLE ITEMS															
		TOTAL OF ALTERNATE NO. 1															
		TOTAL OF ALTERNATE NO. 2 SRF INELIGIBLE ITEMS															
		TOTAL OF BASE BID															
		TOTAL OF BASE BID PLUS ALTERNATE NO. 1															
		TOTAL OF BASE BID PLUS ALTERNATE NO. 2															
		TOTAL OF BASE BID PLUS ALTERNATE NO. 1 & 2															

* Corrected extension error

**Extension correction